OFFICE OF THE SUPERISTETIMEN, STRATEFER THE PERSON ASSESSMENT OF THE PART OF THE RESERVE ASSESSMENT AND PROPERTY OF THE PROPERTY OF THE PERSON OF THE PERS Member Secretary District Jal Jeevan Mission Baramulla/Bandipma Court checking habs descript a who

Tantray Constructions

. Co. Mushtaq Ahmad Tantray . Abdul Jabbar Tantray

Ajar Bandipora

SET NO: - DIAHAPTZZ41F1ZZ.

No: 46/AAY/CE/CID/PDC/2010-11.

Affortised Amount: \$218.55tac Allotted Amount:- ₹1,93,62,226.00

Major Head: 4215-Jun Time of completion: 150days

JORDER No: 34/SE/HYD/SPR/JJM of 2023-24] Dated: -95 - 7 -2023

sumpet: Fixation of Contract for:

Construction and successful testing and commissioning of 0.30 MGD RSFP (cost includes PST, Filter House & Wash Water Disposable Chamber) for WSS Datiwas. (Tender ID:-

Reference:

- Chief Engineer Jal Shakti (PHE) department Kashmir's e-NIT CE/PHE/KMR/JSD/08 of 2022-23 dated:- 19-11-2022 issued under endorsement No CE/PHE/JJM/30776-826 Dated: 19-11-2022.
- Revised District Action Plan (DAP) approved by the Chairman DJJM Bandipora circulated vide No:
- Minutes of Meeting held with District Development Commissioner Bandipora (Chairman DDJM) on 08-06-2023 3 minutes issued vide order No. 289-DDCB of 2023 Dated: 24/07/2023, under endorsement No. DDCB/JJM/2023-
- Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/335 of 02-2023 Dated: - 13-02-2023.
- Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No: CE/PHE/DB/824 of 75
- UT Level committee meeting held on 01-06-2022 under the chairmanship of Development Commissioner Works
- Amendments in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated: - 21-06-2022.
- Chief Engineer Jal Shakti PHE Department Kashmir's Letter No:- CE/PHE/K/E&T/JJM/41276-306

For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract or above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you n Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions s laid down in the Annexure "B" of this allotment order. The total cost of work shall be ₹1,93,62,226.00 One Crore Ninety-Three Lac Sixty-Two Thousand Two Hundred and Twenty-Six Only).

10: - SE/HYD/JJM/ 4676-90 Pated:-35/7/2023.

Superintending Engineer Hydraulic Circle Baramulla/Bandipora H.Q Sopore

py to the:-

- 1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information.
- 2. District Development Commissioner Bandipora (Chairperson DJJM) for favour of information.
- 3. Ádditional District Development Commissioner Bandipora (Member DJJM) for information.
- 4. Assistant Commissioner Development Bandipora (Member DJJM) for information.
- 5. Divisional Forest officer Bandipora (Member DJJM) for information.
- 6. Chief Planning Officer Bandipora (Member DJJM) for information.
- 7. Chief Medical Officer Bandipora (Member DJJM) for information.
- 8. Chief Educational Officer Bandipora (Member DJJM) for information.
- 9. District Social Welfare Officer Bandipora/District Tribal Welfare Officer Bandipora (Member DJJM)
- 10. District Information officer Bandipora (Member DJJM) for information.
- 11. Executive Engineer PHE Hydraulic Division Bandipora (Member DJJM) for information and
- 12. Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for information. 13. Executive Engineer Ground Water Division Srinagar (Member D.J.JM) for information

Sinexule A With Order No: /St/HYD/II	M 0120	23-24 Dated	2000	-2023
Therefore,			Alloted Rate	1
recease (exceeding 30 cm in depth, 15 m in width as well as 10 sqm achiding disposal of excavated earth lend up to 50 meters and lift in 15 m in width as well as 10 sqm as 11 as directed by Engineer in Charge	tnii			7 21,28,410.94
The state of the s	1.5 Cum	149.0000	₹ 198.70	₹ 89,216.30
Serve ling and laying hand packed stone soling 50 mm nominal size includ- ing spreading dressing, ramming, all leads lifts and all carriages societies.	ges Cum	102.312	₹ 1,320.00	₹ 1,35,051.84
Cupply and filling of filter media from approved source - Gravel (Grad files) - size ranging from 2.0mm to 40.00 mm) in filter beds. Including carriages complete job	all Cum	11.880	₹ 7,700.00	₹ 91,476.00
Land and filling of filter media from approved source - Sand (Coarse filt and in filter beds Including all carriages, complete job	Cum	7.430	₹ 7,968.00	₹ 59,202.24
Supplying and filling in plinth with fine sand under floors including the supplying ramming consolidating and dressing complete.	Cum	14.550	₹ 787.40	₹ 11,456.67
Recogniting and laying in position cement concrete of specified grade including string but excluding the cost of centring and shuttering. All work upto plin layer with	th			
12.24 (1 cement : 2 coarse sand : 4 graded stone aggregate 40 mm nomin	Cum	33.985	₹ 6,434.01	₹ 2,18,659.83
್ರಾಪ್ತಕ್ಕೆ (1 cement : 3 coarse sand : 6 graded stone aggregate 40 mm nomin	al Cum	34.115	₹ 5,399.02	₹ 1,84,187.57
್ರೀ (1 cement : 4 coarse sand : 8 graded stone aggregate 40 mm nomina	al Cum	51.890	₹ 4,861.84	₹ 2,52,280.88
concrete including curing but excluding the cost of centering, shuttering finishing and reinforcement. All works upto plinth level	it g,			
1:11:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm inominal size)	Cum	76.100	₹ 7,800.76	₹ 5,93,637.84
Reinforced cement concrete work in walls (any thickness) including lattering courses, fillets, columns policies, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement.	g			
1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm	Cum	19.657	₹ 9,408.14	₹ 1,84,935.81
Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with	l 1			
14114:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm	Cum	54.515	₹ 9,849.35	₹ 5,36,937.32
Providing and laying in position machine batched and machine mixed design mix in 25 grade cement concrete for reinforced cement concrete work, using coment content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 3103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer-incharge. Note: - Cement in this item is @ 330 kg/cum. Excess or less rement used as per design mix is content considered payable or recoverable separately.				·
Aigworks upto plinth level	Cum	63.416	₹ 7,911.26 ₹ 9,302.98	₹ 5,01,700.46 ₹ 14,96,207.58
All works above plinth level upto floor V level Extra for providing richer mixes at all floor levels. Note:- Excess/ less cement	Cum	160.831	1 3,302.30	. 1 1,50,207.00
over the specified cement content used is payable/ recoverable separately. Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:-Ceffient.content considered in M-30 is @ 340 kg/cum)	Cum	224.247	₹ 111.87	₹ 25,086.51
Add or deduct for using more or less cement in the items of design mix over and above the specified cement content therein.	Quintal	159.012	₹ 1,074.37	₹ 1,70,837.72
Centering and shuttering including strutting, propping etc. and removal of form for:				
Foundations, footings, bases of columns etc. for mass concrete.	sqm	190.876	₹ 262.30	₹ 50,066.77
পিনার্জ (any thickness) including attached pilasters, buttresses, plinth and জুলানু eourses etc.	sqm	1448.830	₹ 573.85	₹ 8,31,411.10
Suspended floors, roofs, landings, balconies and access platforms.	sqm	334.598	₹ 635.60	₹ 2,12,670.17

16-

and successful testing and commissioning of 0.30 MGD RSFP (cost includes PST, Filter House) 5001 Disposable Chamber) for WSS Datiwas. (Lender ID: 2022 PHE 196755_1) annexure "A" with Order No:

trian trian septi	24 Dated :- Ouantity 218 500	Alloted Rate	Amount
tribin sojem			
som:	N15t 200		* 1,09,873 73
	219.390	1 680.15	1,49,218.11
SKIRN	36,246	1 807.50	1 29,672 10
sklin	17.770	1 52.46	(932 21
sqm	321,680	1111.77	1.36,919.21
sqrn	22,080	t 100.57	1 2,220.50
RM	413,530	₹ 242.30	₹ 1,00,138.32
kgs	3607,490	₹ \$7.90	₹ 2,08,873 67
	77101 200	7 97 18	₹ 30,60,122.62
_Kg	35101.200	7 87.18	(30,00,122.02
	1		
Cum	37.913	₹ 7,476.38	₹ 2,83,451.99
J.3.71	grate country		
ļ	1	1	1
	1	1	
	1.510	₹ 1.06.894.15	₹ 1,64,616.99
Cum	1,540	1,00,034.13	. 2,01,010.99
1	1	1	
122	· _	1	
	=		
mm/sam	30.630	₹ 2,784.10	₹ 85,276.98
111.70			
	-		
		¥ 025 00	# 3E 410.00
sqm	27.480	₹ 925.00	₹ 25,419.00
	1		1
			-
			1
	-		
· Kg	1719.730	₹ 114.68	₹ 1,97,218.64
	<u> </u>	1	
	1:::		
Kq	1001.470	₹ 172.90	₹ 1,73,154.16
	1	F	
Kg	681.180	₹ 91.03	₹ 62,007.82
	2		
-	1	-	1
Kg	5500.000	₹ 102.14	₹ 5,61,770.00
1	1		
4			
	1		
4			
1	,		
*		.	
sqm	3.750	₹ 3,238.20	₹ 12,143.25
2	-		
t			
•			
-			
sqm	217.78	0 ₹505.00	₹ 1,09,978.
9			
C	9		
à l		1	**
e		,	-
e			
sqn	64.90	0 ₹ 1,210.6	6 ₹ 78,571.8
7.7			
	*	-	4
	Kg Cum Cum Sqm Kg Kg Kg Kg Kg Kg Kg Kg Kg Kg	RM 413,530 kgs 3607,490 Kg 35101,200 Cum 37,913 Cum 1,540 mm/sqm 30,630 Kg 1719,730 Kg 681,180 Kg 5500,000 Kg 5500,000 xgm 3,750 xgm 217,780 xgm 217,780 xgm 217,780	RM 413,530 ₹ 242,30 kgs 3607,490 ₹ 57,90 Kg 35101,200 ₹ 87,18 Cum 37,913 ₹ 7,476,38 Cum 1,540 ₹ 1,06,894,15 sqm 27,480 ₹ 925,00 Kg 1719,730 ₹ 114,68 Kg 681,180 ₹ 91,03 Kg 5500,000 ₹ 102,14 sqm 3,750 ₹ 3,238,20 sqm 217,780 ₹ 505,00 e 4 4 e 6 4 e 6 4 e 6 4 e 6 4

and successful testing and commissioning of 0.30 MGD RSFP (cost includes PST, Filter House, ger Disposable Chamber) for WSS Datiwas, (Tender ID. 2022 PHE 196755_1) Annexure "A" with Order No: /SE/HYD/IIM of 2023-24 Dated :--2023 t at ription Amount Quantity Afford Rate o with marble stone of specified thicker's as per exergine ed marble to by Engineer an charge, over 20 mm [average] shirk have of received 1.4 (1 cement 4 coarse sand) laid and founted with grey content granding skirting in vertical rubbing polishing and curing complete as White Second quality (16mm) t 3,72,005.49 £ 6,175,39 60.240 SIGIT en pre finished nosing to treads of steps of marble stone 1 8,689.65 1 579.31 15,000 som 12. 13m Cement plaster finished with a floating coat of neat cement of mix - (i coment 4 fine sand) ÷ 3,32,121.73 t 325.45 1020,500 sam THEOT PLASTER WITH A FLOATING COAT OF NEAT CEMENT 15mm restant claster on the rough side of single or half brick wall of mix. cement 4 fine sand) ₹ 1,64,051.71 ₹ 300.45 546.020 sam 100 213 coment 6 fine sand) 1 1,44,626.83 t 278.60 519.120 sqm The state of the s ₹ 91.80 ₹ 1.05.154.15 1145,470 Apolying priming coat This wady mixed pink or grey primer of approved brand and manufacture ₹ 5,801.25 ₹ 59.50 97,500 sam and soft wood) A physically mixed red oxide Zinc Chromate primer of approved brand and ₹ 50,112.50 ₹ 52.75 950,000 sam manufacture on steel galvanized iron/steel works ₹ 27,455.00 Wie ready mixed red oxide Zinc Chromate primer of approved brand and ₹ 28.90 950,000 sam condition coat) The synthetic enamel paint of approved brand and manufacture to e even shade. ₹ 14,266.93 ₹ 121.95 116.990 sqm Twist more coats on new work with Epoxy paint (two or more coats) at all locations prepared and & as per manufacturer's specifications including appropriate priming as per manufacture, etc complete ₹ 42,631.04 ₹ 188.80 225.800 5.2 4/2. steel work sqm ₹ 4,585.75 ₹ 183.43 25.000 sqm alconcrete work The ampering with oil bound washable distemper of approved brand and ₹ 73,183.55 ₹ 149.05 The pufacture to give an even shade on New work (two or more coats) over 491.000 sqm and a special control of the second s Frevioing and fixing aluminum handles ISI marked anodized (anodic coating than grade AC 10 as per IS: 1868) transparent or dyed to required grand shade with necessary screws etc.complete ₹ 66.35 ₹ 331.75 5.000 each ₹ 2,876.50 ₹ 52.30 55,000 and fixing aluminum tower bolts ISI marked anodized (anodic ्राज्यान not less than grade AC 10 as per IS : 1868) transparent or dyed to 11. (2.35) 20.15(13.5mm 5.2 (16.9x16.6mm ₹ 1,205.25 15.000 ₹ 80.35 ₹ 6,882.00 ₹ 57.35 120.000 each 22 Providing corrugated G. S. sheet roofing including vertical/curved surface The Secretary polymer coated J or L hooks, bolts and nuts 8mm diameter with and G.I limpet washers or with G.I. limpet washers filled with white laborated and G.I limpet washers of with G.I. impet washers into the laborated and two coats of approved steel primer and two coats of approved in the laborated for the labor in a complete (upto any pitch in regiontal/vertical or curved surface)excluding the cost of purlins, rafters the size and shape wherever required. ₹ 1,30,507.00 ₹ 830.25 157,190 10.41 in 9.50 mm thick with zinc coating not less than 275 gram/m2 sqm 105 Fraviding ridges or hips of width 60cm overall width plain G.S. sheets fixed was polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. limpet and With polymer complete ₹ 41,239.03 ₹ 691.35 59.650 0.4 0.68 inm thick with zinc coating not less than 275 gram/m2 m 1 Providing and fixing plained eaves boarding. नुस्य class kail wood ₹ 43,819.79 63.150 ₹ 693.90 1-1; 250x32 mm (nominal size) m PROTPHOVIDING and fixing of 0.5mm Color GS Sheet Soffit boarding including ₹ 28,902.00 48.170 ₹ 600.00 m Bucking, supports etc complete job हिंदा मिलेपियों हु and applying white cement based putty of specified thickness, of cliplanproved brand and manufacturer, over the plastered wall surface to an prepare the surface even and smooth complete. ₹ 89,951.42 ₹ 172.40 521,760 3.11 2 mm thick sqm rovining and fixing G.I. pipes (B medium) complete with G.I. fittings

in jex utling trenching and refilling etc. (external work)

in the mindia nominal bore

12 100 mmdia, nominal bore

₹ 840.00

₹ 1,234.95

25.000

25.000

m

m

₹ 21,000.00

₹ 30,873.75

-

etion and successful testing and commissioning of 0.30 MGB RSFP [cost includes PST, Filter House] Water Disposable Chamber) for WSS Datiwas. (Tender ID: 2022 PHE 196755_1)

1/2 in Description /SE/HAD/HV		2022 PHE	196755 11	, Fitter House
providing and fixing D1 shire valves (with cap) complete with builts, more tail, raining to IS-14046 read with latest arrended will be paid.	01 202	-24 Dated -		023
providing and fixing D.1. shuice valves (with cap) complete with holes, more public insertions etc. (the tail pieces if required will be paid separately). (3) Inn dia Class 1.	1.Frysy	Christing		023
7 SUBTRINING 10 IS 14046 read with latest amond softly for finite with			Affisted Plans	Ammont
min dia Class 1				
- 1,0,1,mm dia Closs 1			1	
7 in 70 mm dia Class 1	Each	1.008	113,164.nn	
Charles Control of the Control of th	Each	3.000	20,243.00	111,164.00
Leaviding and fixing of MS flanged Joints (12mm thick) to double flanged price gasket, bolts, nuts including testing the starters.	Each	6.000	t 31,698 on	* 60,723 nn * 1,90,188 nn
Cubi pipes including cutting of pipes, welding charges cutting of flanges, mind gasket, bolts, nuts including testing of joint and all some of flanges.	Each	3.000	f 50,356.00	1,51,068.00
pipes including cutting of pipes, welding charges, cutting of flanged simplete Job. 20 mm dia. pipe	Lacit	3,000	1 62,000.00	1,85,139.00
simplete Job. County of flanges,		1		7.77.701
mm dia pine		1		
ee mm dia, pipe			1	1
300 mm dia. pipe	Joint	5.000	¢ 1,520.00	17,600.00
1250 mm dia, pipe	Joint	20.000	1 2,150.00	(43,000.00
Previding & fixing of 0.63mm that per	Joint	5,000	7 3,480.00	7 17,400.00
frechant that pipe frechant that	_Joint_	8.000	₹ 5,030.00	₹ 40,240.00
including all leads and lifts complete Job as directed by Engineer-In-charge		00.446		
and fixing aluminum work for	sqm	99.140	₹ 800.00	* 79,312.00
recoviding and fixing aluminum work for doors, windows, ventilators with extruded built up standard tubular sections/appropriate 1285, fixed with dash forms.				
sections and other sections of approved melan sections/appropriate				
Assections with extruded built up standard tubular sections/appropriate sections and other sections of approved make conforming to IS: 733 and IS: 1385, fixed with dash fastener of required dia. and size including excessary up of gaps at junctions i.e, at top, bottom and sides with required to the section of the section				
this ing up of gaps at junctions i.e. at ton bottom and size includingnecessary		-		
Thing up of gaps at junctions i.e, at top, bottom and sides withrequired EPDM straight mitred easier felt etc. Aluminum sections shall be seen and sides withrequired EPDM straight mitred easier felt etc.				
makes of olders at junctions i.e, at top, bottom and sides withrequired EPDM respectively. The property of the straight, mitred and jointed mechanically wherever required including states angle. Aluminum snap beading forglazing / nanelling CD to State the straight of the state of the straight of the state of the straight of the state of the straight of the straigh				U.
	k	5.		
dissections of Engineer-in-Charge (glazing, panelling and dash fasteners to be				
separately.)	, a			
Philaston no. 1				
ester powder coated aluminum (minimum thickness of	-			
Solvester powder coated 50 microns)	Kg	79.500	₹ 504.13	₹ 40,078.34
cater powder coated alumin			1.7041 W.S. 2545	1.10,070.5-
wider coated 50 microns) (minimum thickness of polyester	: Kg	38.300	₹ 598.35	₹ 22,916.81
reviding and fixing glazing in aluminum door, window, ventilator shutters				/-10.01
tic partitions etc. with EPDM rubber / neoprene gasket etc. complete as per		١.		
				, and the second
the directions of engineerin-charge. (Cost of				
			1	
with float glass panes of 5.0 mm thickness (weight not less than 12.50 kg /		20 Cartina V. 1945		
	sqm	16.050	₹ 1,395.96	₹ 22,405.16
arriage of materials by mechanical transport including loading, unloading,		· .		
acising of materials -	MT	292.9500	₹ 303.65	# 00 054 DD
ement & Steel for an average lead of 15km			(303.03	₹ 88,954.27
gregate 20mm & Sand for an average lead of 50km	Cum	686.887	7700 27	7 1 02 000
ricks from Budgam for an average lead of 90 Km	No	18009.000	₹ 700.37	₹ 4,81,077.11
fram aggregate for an average lead of 50 Km	Cum	46.247	₹ 2.92	₹ 52,586.28
Frical Items: Supplying and fixing of 25mm dia, medium class PVC conduit	· ·	70.24/	₹ 761.25	₹ 35,205.53
Significant accessories in Surface/recess including cutting the wall and				
good the same in case of recessed conduit as required.	m ·	150.000	₹ 103.50	₹ 15,525.00
		* **		13,323.00
oviding and carrying out wiring for light point/ fan point/ exhaust fan	· · · · · ·	*		
call bell point with 1.5 sq.mm FRLS PVC insulated copper conductor				
core cable in surface / recessed medium class PVC conduit, with	** *		1	1
dular switch, modular plate, suitable GI box and earthing the point with	Point	20.000	₹ 824,55	₹ 16,491.00
sq.mm FRLS PVC insulated copper conductor single core cable etc. as	- (8)		. 52 1,55	10,451.00
uired. (excl. cost of conduit)			1	1
ividing and carrying out wiring for twi-				
ividing and carrying out wiring for twin control light point with 1.5 sq.mm	S. 4.			
insulated copper conductor single core cable in surface / recorded			1	1
didni class FVC conduit, 2-way modular switch modular plate quitable Cil	Doint	15.000	* 1 215 55	7 10 555
want earthing the point with 1.5 somm FRIS PVC inculated connect	Point	15.000	₹ 1,215.55	₹ 18,233.25
ductor single core cable etc. as required. (excl cost of conduit)	4		1	
]	F
widing and carrying out wiring for heating points with 4.0 sq.mm FRLS				1
insulated copper conductor single core cable in surface / managed		4		1
class I ve conduit, modular combined cas 14 Amp alana and	1		1	1
prace, suitable of Dox and earthing the point with 2 as proceed		8.0000	₹ 1,300.00	₹ 10,400.00
and the copper condictor single core cable at a series in the		1 3		
anduit)	٠,			
20.2			L	
			<u> </u>	

Mater Disposable Chamber) for WSS Datiwas. (Tender II): 2022_PHE_196755_11

	IIM at yo	23-24 Dated	_196755_11	ST, Fitter Hours
		23-24 Dated	j	2023
does and earlying and circuity submain wiring along with earth, the following sizes of FRLS PVC insulated copper emidation, saight in surface/ recessed medium class PVL conduit as required (excessed medium class PVL conduit as required (excessed medium and fixing and fixing and fixing the carth wire	Krow	Otrantity		2023
(conduit) resed medium class pyr count or conductor, south	20114	-	Allighed Bate	Amount
sy sq min + 1 x 4 sq mm earth wire	2000	1		
ad a still a state of the				
Language and fixing suitable size of box with modular plate and covered a modular socket outlet and 15/16 A modular switch connections of two modules stepped.	m	130.000		
equired socket outlet and 15/16 A model.	44 64	130.000	£ \$30.00	£ 34,500.00
guired 15/16 A modular switch connections 15/16 A modular switch connections 15/16 A modular switch connections 15/16 A modular switch box including connections but 15/16 A modular switch box including connections but 15/16 A modular switch connections for regulators 15/16 A modular switch connections for regulators 15/16 A modular switch connections for regulators 15/16 A modular switch connections 15/16 A modul	No.	15.000	f 569.25	
his existing modular plate switch to the Electronic participate in the switch to the same of			₹ 569.25	* 8,53A /5
the click and lixing of two module stepped type Electronic Fan regulators with box including connections but excluding and fixing single pole 5. A to 20.	r on			
	tost No.	6.000	₹ 393.30	# 1 100 au
Value of the string single pole 5 A to 32 A rating, 240V, 10 kA, "C" on the policy of the string and commissioning etc. as required.	tve			₹ 2,359.80
company to an and commissioning etc. as report	lete			
Wall the and for	110.	20.000	₹ 228.85	₹ 4,577.00
Third and fixing double pole 63 Amp 240V, 10 kA, "C" curve, miniate to as required. Leader suitable for inductive load in MCB DB complete was a required.				222.00
complete with the string and commissioning etc. as required.	ure			
sessing and commissioning etc. as required. Selection of the existing junction be a selected block including connections etc. as required.	vith No.	5.000	₹ 442.75	₹ 2,213.75
	ox/			
resolution of 24-Watt LED slim aluminum panel	No.	6.000	₹ 74.75	₹ 448.50
property of 24-Watt LED slim aluminum panel surface type complete in	all			3 4 10150
to relevant Indian of Celling Fans complete to the		10.000	₹ 600.00	₹ 6,000.00
Specify of 200 mm nominal sweep Exhaust Fans including shutter from the state of th	ng No.	5.000	7 2 425 65	
Mode complete Co. Command Sweep Exhaust Fans to the		3.000	₹ 2,125.00	₹ 10,625.00
resultation, testing and commissioning of pre-wired, fluorescent fitting of all types, complete with all accessed	No.	5.000	₹ 1,550.00	# 7 7F0 00
Strange of Dre-wised of	9/ -		1 2/550.00	₹ 7,750.00
testing and commissioning of pre-wired, fluorescent fitting of all types, complete with all accessories are called the commissioning of pre-wired fluorescent fitting of all types, complete with all accessories are called the commission of the com	nd	3		
	q. No.	5.000	₹ 193.20	* ₹966.00
insulated, copper conductor, single core cable and earthin	ng		195.20	* ₹ 966.00
eschation, testing and commissioning of ceiling fan, including wiring the control of standard length (up to 30 cm) with 1.5 sq. mm FRLS PV	ie .			
street, copper conductor, single core cable at a sq. mm FRLS PV	C No. 1	5.000	₹ 196.65	¥ 000 0=
manager of Calladict ton in Al-	5.		1 250.05	₹ 983.25
see, connection, testing, commissioning etc. as required. Solving and fixing 12-way doubles for as required.	e · Ne			
30 ying and fixing 12-way double in gett. as required.	1 110.	5.000	₹ 417.45	₹ 2,087,25
CB distribution board, 240 V, on surface/ recess, complete with	t	1 1 2		
copper bus bar, neutral bus bar, earth bar, din bar, interconnections	1 [
er painted including earthing etc. as required. (But without ERCCB/Isolator)	No.	5.000	₹ 2,360.95	₹ 11,804.75
PCCB/Isolator)	4			,001.,25
wining fitting and testing of LED flood light IP65 30W rating to pre-wired	1			
repoints on the outside of the Filter House building.	No.	6.000	₹ 1,500.00	20.000.0 E
			1 2/3 00.00	₹ 9,000.00
guited make in P.V.C pipes of required dia to accommodate the service seculating bends etc., from main transferred to	130			.=
encluding bends etc., from main transformer to the main panel board	m	110.000	* 22 - a	
complete.		110.000	₹ 325.00	₹ 35,750.00
ding and fitting at site 2 phone 1/2	- "			
ding and fitting at site 3-phase, Voltage stabilizer of following ratings, essentially including accessories as required.	* :			
includes making of connection including accessories as required.			1	
the paid in fitted and finished form after the service		•		•
e lob:	, 1			
ing and fitting of panel hoard with and	.Job	1.000	₹ 47 000 00	
ng and fitting of panel board with angle iron supports and A.C. sheets	15	2.500	₹ 47,000.00	₹ 47,000.00
of MCCB, change over switch, bus bars etc. The job includes nuts dembedding of supports in cement concrete blocks complete job.	(4) (6)		. 1	
description in cement concrete blocks complete job.	Job	5.000	₹ 4,250.00	₹ 21,250.00
ig and fitting of:				· 21,230.00
4 pole change over of reputed make.	-	=		
o-Copper bus bar	No	1 000		
MCCB		1.000	₹ 7,598.00	₹ 7,598.00
MCCB	No	1.000	₹ 4,550.00	₹ 4,550.00
	No	3.000	₹ 3,300.00	₹ 9,900.00
MGCB MCCB	No	3.000	₹ 2,700.00	₹ 8,100.00
MULD	No	3.000	₹ 2,100.00	
CCB.	No	5.000	₹ 1,250.00	₹ 6,300.00
ndicator points	No	5.000		₹ 6,250.00
Oltmeteranda	No	5.000	₹ 630.00	₹ 3,150.00
	3 3 34	5.000	₹ 445.00	₹ 2 22E 00
Amperemeters	No	3.000	₹ 1,190.00	₹ 2,225.00

-- KNINN

Annexure "A" with Order No: /St/HYD/IIM of 2023-24 Dated : -2023

Personal Property Pro	12023	24 Oaked	196755_1)	
penning & fixing of PVC under drainage largeate with specifications are with nominal dia of 9mm period.			20	23
naming to 18 4905 & 18-15101, Rmm thick fabricated out of approved and degrees along with PVC Trees.	CTVV/T	CHEATHERY	Allohed Rate	Amount
Eke with nominal dia of 9mm perforations as per design of bod provided at 50,000 per suite value of approved and segment the perforations as per design of bod provided at 220,000 per suite valing of 10kg/sc.cm				
2) degrees along with PVC Tres and on the per design of hell or and		1		
soldegrees along with PVC Tees and end caps grouted in concrete, the	- 1			
3. AF	1		· ·	
San m dia				
Schulin and commissioning of following items for Flash Mixer Mixing device with reduction gear system	m	121.000	£ 1,420.00	t 1,71,820.00
Mixer. Mixing device with reduction gear system Schase Electrically driven motor:			7.77.20.00	1,71,620,00
12 to 15 to			1	
Extendation \ Base plate		2.650		
Stater along with pages	No Set	1,000	₹ 4,800.00 ₹ 4,548.00	7,600.00
sayiding, fitting, testing and commissioning of following itemn for Alum	No	000.1	₹ 1,680.00	₹ 4,548.00 ₹ 1,680.00
Easting Unit-		1,000		(1,050,09
sowing device with reduction as				
ese electrically driven motors:	Set	1.000	₹ 2,500.00	₹ 2,500.00
State addition (Dec.)		1.000	* 4 000 00	1 4 000 00
Schudelation / Base plate	No	1.000	₹ 4,800.00 ₹ 4,548.00	₹ 4,800.00
Starter along with necessary wiring upto motor	Set_No	1.000	₹ 1,680.00	₹ 4,548.00 ₹ 1,680.00
Y Coutlet, overflow system with fittings upto point of application	Lot	1.000	₹ 530.00	₹ 530.00
Symm dia Service water piping.	Lot	1.000	₹ 1,350.00	₹ 1,350.00
Statute dozing unit with time device	Lot	1.000	₹ 530.00	₹ 530.00
Michaelly operated hoist	Set	1.000	₹ 1,500.00	₹ 1,500.00
Solviding, fitting, testing and commission to	Set	1.000	₹ 10,000.00	₹ 10,000.00
Commissioning of following Itemns for			1	
Mixing device with red.	Cot	1.000	₹ 2,500.00	₹ 2,500.00
is case electrically driven motors:	Set	1.000	\ Z,500.00	1 2,500.00
The state of the s	No	1.000	₹ 2,800.00	₹ 2,800.00
\$\\\75\\P\\\	No	1.000	₹ 3,400.00	₹ 3,400.00
10 Atp	No	1.000	₹ 4,800.00	₹ 4,800.00
ະເປັນ ndation / Base plate.	Set	1.000	₹ 4,548.00	₹ 4,548.00
coutiet, overflow system with fittings upto point of application.	Lot	1.000	₹ 530.00	₹ 530.00
Islands: along with necessary wiring upto motor				
VSO hard dia Drain out let	No	1.000	₹ 1,680.00 ₹ 1,350.00	₹ 1,680.00
in dia service water piping	Lot Lot	1.000	₹ 530.00	₹ 1,350.00 ₹ 530.00
Constant dozing unit with time device.	· Set	1.000	₹ 1,500.00	₹ 1,500.00
Pariding and fixing D.I. sluice valves Class 1 (with cap) complete with	1	1.000	(1,500.00	\ 1,500.00 .
ribber insertions, bolts, nuts, extention rod, joint connector, supporting			_	
in adaptal with base plate, top plate and necessary anchoring bolts etc. (the				
Fig. 12 (2) Confirming to IS:14846 read	ž.		_	
1200 mm dia.	Foot	2,000	7 77 770 00	# F2 440 00
Divinin dia.	Each Each	3.000	₹ 26,720.00 ₹ 42,300.00	₹ 53,440.00
និក្សារ៉ាញ់ dia.	Each	2.000	₹ 66,440.00	₹ 1,26,900.00 ₹ 1,32,880.00
Providing fitting, testing and comissioning of air blower standard make ISI		2.000	1 00,440.00	1,52,660.00
capable of providing compression @ 0.35 kgs/sqcm coupled with		1		
intable 3 phase induction electric motor complete with auxiliary pipe		}	1	
less upto filter beds with pressure guage, Nozzles, foundation block, base				
in air check valve , non- return valve, Starter etc	9		•	
8.95 (PM Air blower with 7.5 HP Motor.	No	1.000	₹ 1,25,000.00	¥ 1 25 000 00
Soundy installation and successful testing and commissioning of mono block	1 140	1.000	₹ 1,25,000.00	₹ 1,25,000.00
William and the standard make ISI mark coupled with 2 phase induction motor				
propriate pumping capacity so as to fill the tank within the max of 2		1		
th nominal dynamic head of 25m along with all accessories like foot	tl		3	
walkes non- return valves, foundation block base plate suction pine	A.		ł	
(sole rising main with nominal dia 50mm (class-B) with heavey duty			1	
and other accessories required for the job.	1	1		,
Santitation -				
in impling unit with 7.5 HP Motor.	Set	1.000	₹ 29,115.00	₹ 29,115.00
M resting and commissioning of MS Rotating Desludging Bridge comprising	3			
the first steel work in built up sections, trusses and framed work, including the first steel work in built up sections, trusses and framed work, including the first steel work in built up section and applying a priming coat of approved the first steel work in the first	1		185	
an complete for the Installation Testing and Commissioning of	F			
bridge with Central Drive mechanism, scrapper and churners for	r l	1	IN.	
However dia Clarifer.				
₹ Wieed				
3:365	Kg	1034.490	₹ 102.14	₹ 1,05,662.81
GAZETINO NO				

Ac

on and successful testing and commissioning of 0.30 MGD RSFP (cost includes PST, Filter House) John Mills Paragraphic Chamber) for WSS Datiwas. (Tender ID: 2022_PHE_196755_1)

Annexure "A" with Order No: /SE/HYD/IIM	of 2022	5055 PHE	196755_1)	T, Filter House
Talking with Loosy paint (two or more)	7023	24 Dated :	4	2023
I calling with Eposy p unit (two or more coats) at all locations prepared and prepared and prepared and prepared and surface, etc complete	Unit	Committy	Altored Pare	Amount
1- Inc. priming				
Propheral drive assembly with follows:			1	
22-1- double bearing and guide for the	_sqm			
Prespheral drive assembly with following	SQUI	75.000	₹ 188.80	₹ 14,160.00
Prespheral drive assembly with following motors, gear box, rollers, drive to 12 unit with 2.0 HP Motor.	Set	1.000	t 4,800.00	f 4,800.00
Applied along with necessary wiring upto motor	Set	1.000		
isseriator drive assembly with	Set	1.000	₹ 19,120.00	₹ 19,120.00
with motors complete ich crown wheel, pinion co	No	1.000	₹ 33,115.00	₹ 33,115.00
garter along with necessary wiring upto motor risestictor drive assembly with crown wheel, pinion sets, reduction gear risestically with motors complete job.	-110	1.000	₹ 1,680.00	₹ 1,680.00
writing and laying/fixing See c	No	1.000	₹ 7,300.00	
lass K-7 conforming to IS : 8320	Set	1.000	₹ 6,500.00	₹ 7,300.00
表现的 capit, telescopic electric pole with rotary current collector 高级化的 and laying/fixing S&S Centrifugally Cast (Spun)/ Ductile Iron Pipes 是表面 dia		1,000	₹ 0,500.00	₹ 6,500.00
Whenendia	_			
rects that laying D.l. standard specials such as tees, bends, collars, coll	m	20.000	₹ 2,504.80	
Fors, caps etc. suitable for Be	m	10.000	₹ 3,129.20	₹ 50,096.00
rollianged jointing as per IS coras collars,			\ 3,129.20	₹ 31,292.00
	ı			
successful commissioning of double s	Quintal	6.000	₹ 7,823.70	7.45.0
siding/ Fixing, installation, successful commissioning of double flanged chipes/specials to be fabricated from MS tube heavy quality nominal chipes with up to date amendments. The pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared quality and must without the pipe material should be updared to be updared quality and must without the pipe material should be updared to be updared t		40	7525.70	₹ 46,942.20
Contrary - J quality nominal	ľ		1	
quality and must withstand in pipe material should be a		. £	1	
pdard quality and must withstand all the anticipated design pressure resolvered oxide primer. Complete Job.	Kg .	1368.680	₹ 147.00	
and should be painted with anti-	4	200.000	₹ 147.00	₹ 2,01,195.96
and and				2
95.				
Total Add @ 7.00% as Tender Appreciat				1
Add @ 7.00% as Tender Appreciat				₹18005 ==
Rupees One Cross No. Grand Total	₹ 1,80,95,53			
Grand Total Rupees One Crore Ninety Three Lac Sixty Two Thousand Two Hundred and T			₹ 12,66,688	
Timety Inree Lac Sixty Two	Thouse	nd T		₹ 1,93,62 22
deres.	- nouse	inu Iwo H	undred and 1	Wenty Siv C
	•			Sirty SIX Un
	9			v

Head Draftsman

SuperIntending Engineer Hydraulic Gircle Baramulla/Bandipora

H. Q Sopore

OFFICE OF THE SUPERINTENDING ENGINEER. ENGINEER TO BE AND THE SUPERINTENDING ENGINEER. Member Secretary District Jal Jeevan Mission Baramulla/Bandipora Estable congents (Chypercall come Annexure "B" with ORDER No: /SE/HYD/SPR/UM of 2023-24

- and RINGER PALTIFIEER.

Dated:-

Terms and Conditions

the work is executed strictly as per approved design / drawing, specifications and IIM Guidelines. Any deviation or change in proposal/location is subject to the prior approval from

The Executive Engineer will draw the formal agreement with the contractor within 07 Days from the date of issuance of this allotment order.

The rates allotted are inclusive of all taxes applicable as per norms amended by competent authorities from time to time. Labour cess and royalties shall have to be borne by the executing

The execution of work shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department.

The executing agency/contractor shall be bound for satisfactory performance of the work for 18 months after the successful Commissioning of subject work and will have to make a trial run of the work for a period of 03 months to the best satisfaction of the department.

Harris de The Defective Liability Period shall be for a period of 12 Months which shall commence after the successful completion of the Trial Run.

No liability should be created on this account.

to the 's

Since .

ting.

16.0238137. 可是一种

一个公司经验

A Colombia वर्तनाम र 137 CM 25 -1

Tribitation -1-21212

Transfer The total cost of work shall in no case exceed beyond ₹1,93,62,226.00 (One Crore Ninety-Three lac Sixty-Two Thousand Two Hundred and Twenty-Six Only).

In case the contractor fails to execute the work, the work shall be put to fresh tenders on the we gar risk and cost of the contractor & the excess cost if involved shall be recovered from the contractor and strict action as warranted under contractual obligation shall be taken against the defaulter.

10. The time of completion of the work is reckoned 150-Days (One Hundred Fifty Days) as per the condition laid down in the e-NIT.

11. The bidder shall furnish a performance security equivalent to 03% of the value of the contract within one week of the issuance of allotment order in the shape of CDR/FDR/Bank Guarantee, valid for a period of 38 Months shall be released after successful fulfilment of the laid down conditions in Sple-Nit. 1.1.

2. The necessary cross sections of the dumping site/excavation should be incorporated at the time of making payments to the relevant item.

Geo Tagged Photographic evidences of the work; pre-execution, during execution and post execution should be maintained by the agency on his own expenses.

The executing agency/contractor must execute the work as per the requirements/specifications detailed in the relevant/applicable IS codes. Julian Pagatera

5. The tests for concrete and allied materials shall have to be carried out at reputed garden i per directions of Engineer in-charge and the charges for the same shall have to be borne by the May: displaying desiration. executing agency/contractor.

All Environmental norms, labour laws and all other guidelines issued by competent authorities on pelitimanes shall be followed in letter and spirit

All other terms & conditions as laid down in the standard bidding document, PWD form-25, SOUTH TO SEE THE GFR-2017 and manual of procurement of works 2022 shall remain in force.

Head Draftsman

Superintending Engineer Hydraulic Circle Baramulla/Bandirora

H.Q Sopore.